(DENG 21)

B.A./B.Com./B.Sc./B.B.M. /B.B.A./B.H.M. DEGREE
EXAMINATION, MAY - 2015
Second Year
Part—1: (i) ENGLISH
Paper-11 : General English

Time : 03 Hours Maximum Marks : 80

1)

b)

All sections are compulsory

SECTION-A

Read the following passage and answer the questions that follow: 5)

As soon as possible after reaching the grounds of Hampton Institution | presented
myself before the head teacher for assignment to a class having been so long without
proper food, a bath and change of clothing. I did not ofcourse make a very favourable
impression upon her. | continued to linger about her, and to impress her in all ways |
could with my worthiness. In the meantime, | saw her admitting other students, and
that added greatly to my discomfort. | felt, deep down in my heart, that | could do as
well as they, if | could only get a chance to show what was in me.

i)  What was the action that added to the authors discomfort?
i)  What did the author himself do?

i) Why did he look unimpressive?

Iv) What did the head teacher do?

v)  What was the purpose of the author appearing before the head teacher?

Read the following passage and answer the questions that follow, choosing the right

answer: 5)

To be a successful writer, you must write interestingly, but different kinds of people
have different interests, and it is most unlikely that you will be able to appeal to all of
them. You therefore have to know exactly what type of reader you are writing for and

exactly what kinds of things interest such a reader.



2)

3)

4)

i)

People have

1)  Disinterest 2)
3)  Same reactions 4)
The antonym of ‘forget’.

1)  Dismiss 2)
3) Remember 4)
‘Unlikely’ means.

1)  Remotely possible 2)
3) Tohate 4)
To be a succesful writer, one must be
1)  Lengthy works 2)
3)  Personally 4)
Write the synonym of ‘Success’.

1)  Failure 2)
3)  Happy 4)

No interest
Different interests

Ignore
Fail

Not possible
Show liking

Carefully
Interestingly

Win
The best

Answer any Two of the following in not more than 100 words each:

a)
b)
c)

d)

Answer any one of the following in about 200 words:

a)
b)

c)

Give a brief account of Gandhiji’s life in London.

What is the moral of the play ‘The Drunkard’.

How do books enrich Keller’s life?

Comment on L.A. Hill’s views on freedom.

Justify the title of the essay “Man’s peril’.

Describe in your own words the actual shorting of the Elephant.

(2x 4=28)

(8)

Enumerate the factors that constitute a knowledge society according to Abdul Kalam.

SECTION-B

Answer any one of the following in not more than 100 words:

i)
i)
i)

Write an appreciation of the poem, “Ode to a Nightingale”.

What is the poet’s prayer to the west wind.

Sketch the character of Ulysses.

(4)



5)

6)

7)

8)

9)

b)  Explain any one of the following: 4
1)  Explain ‘I am a part of all that I have met’.
i)  Was ita vision or a waking dream?

1) Good fences make good neighbours.
Answer any one of the following in about 200 words: (8)
a)  Bring out the patriotic feelings in the poem, “The gift of India”.
b) Browning’s ‘The Last Ride Together’ is a dramatic monologue. Discuss.

Cc) Write an appreciation of the poem “Because I could not stop for Death”.

SECTION-C

Answer any one of the following in about 200 words: (8)
a)  Sketch the character of Subha.

b) Attempt an evaluation of the grain merchant’s character in ‘Diamond Rice’.

C) Bring out the pathos of the story of Ha’penny.

SECTION-D

Read the following passage and summarise it: (6)

There are two types of courage the first type is physical the second is moral courage then
two types of courage are quite different from each other. On the otherhand, men who
possessed great moral courage would not take physical risk. To be really great, a man-or

nation must possess both kinds of courage.

Write an essay on one of the following: (6)
a)  Politics and religion.

b) Brain drain.

¢) Communal Harmony.

Answer any one of the following: (6)
a)  Write a report on how you intend to spend your summer vacation.

b)  Write a report the accident you have seen.



10) Use four of the following idioms and phrases in sentences of your own: (6)

11)

a) Callon

b) Achiles heal

c) Iron out

d) Monkey-business

e) Putdown

f)  Look after

g) Flesh and blood

h) Black sheep

Answer any one of the following: (6)
a)  Write a dialogue between you and a shopkeeper at a bookstall.

b)  Write a letter to a Indo-American publishing house asking for CDs on spoken English.
c) Write a letter congratulating a friend on his success in the interview for a job.

cEE



(DTEL 21)

B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M. DEGREE EXAMINATION, MAY-2015

Second Year

Part-1: TELUGU

Paper — 11 : Poetry, Prose, Drama, Prosody, Poetics and Essay

Time : 03 Hours

Maximum Marks : 80

1)

2)

e (808 BS° .8 Soog08 BBSEY Eeehrgen [Fabod.

) Je IBEFLOH JuH 83 385 Sse0
B8 D> 3% DB|goeaoans P0G 53
8% S8 5B BIETHADHOW IiPIo

e #8) B° 55 ok e IFIoe|ed

b) @ D Bewsg aodrorsaoond, o S'ab §
13 58573, Dses SoaEsde absox 89,
D E508°0080) B3 By KI0HDH S|Egor So

8IS 3DS5°0d b K(ééé’)éoléoa@

1808 Te36° [5&zeKo o0& Botko HOLE S Togrsen ool
®-g*ro

a)  BB0DE TSP LD Bo(&!

b) RS DEC0H IR

c) 3¢ 888 S0P, :)cSéSGeB

d)  Q dReg Wero(ts 3o Hoenyod
e3—-gKo

a) 8 serd8 v, merdd 28 88°H

(1x8 = 8)

(4x2 =8)



3)

4

5)

b)

c)

d)

8 FPHBET Beaged0 g80BS
(BB SBS0N (SFSGD (F°S

CRNY TEODE FroTesS HBVE

BoB 3°636° (35®grro Mod 8@ JSrErSo [@eobod.

b)

®-grKo

53565 3)‘62355%’;@)@ K)ommt‘()& dS3B0308&.
K)Kéo-‘édé %), éé:oé:éé) 520w é&’)éé@vc"o%‘:)& [Frood.

&—gi°rfo

‘eBRgo’ &° BeE 158,093 ByF D [FPapod.

‘ifolffabo’ 8" T8 558305 esommd) D5Bosod.

53 1808 7°636° |38gr0 0B 256708 JSITGESo [FPaod.

a)

b)

a)

b)

®-grro

‘RirosR 8507 SR [eaod.

‘orahesPe0 08 BpES’ & DSBoB0d.

es—-g*o

‘BRI’ Ko DS e‘:aaaag‘s Ao dewsod.

‘:653)‘:1’ ? 8050°0RB°R @ D>0DOo [FPaDoé.

&3 808 7°636° Bo&oe38 Ssrgraren [FPoHod.

a)

b)

c)

d)

DETE0 HEOASTHTE (B0 DBoBod.
gques‘ K500 TEBS & DIB0B0S.
50008 o GgT° B5ons ad Fo8Ho DIBEBoI0G.

SBYEAD T TNF"IB ), DSBoB0s.

(2x8 =16)

(2x7 =14)

(2x7 =14)



6)

7)

&3 1808 7°836° 2.8 @D 158y g0 [@Fraod.

a)
b)

b)

§o®§w8—90w85e5—eéé§§é

:{>U°§;56£90 - ;’)863‘83

&s 808 3’3(5°§X)§ Keadgiesd B, PoBKy% Ko, ab&D foS‘béo& .

1) S50006ME T TPIILPEH Do Bébg Do

Soe

ii) &6 (808 TS 28 T°I8 AT BeaoN OFETI), 80108,
1) edeire

2) esL3es

&2 1808 $565506° ©005°0°R), 8O, ©EFI08" HHPO0B0E.

i) §85:56550205%d 23D osToR

B508:% §P6830085% FeKSBB050cS SS

So

i) 31808 weos TS &8 TP AIETBEOM ©FE0 Beyod.

1) &rSsceosebo

2) ¥ErS§ weosBo

(1x10 =10)

(1x5 =5)

(1x5 =5)



(DHIN 21(NR))

B.A./B.Com./B.Sc./B.B.M./B.B.A. /B.H.M. DEGREE EXAMINATION, MAY - 2015

Second Year

Part — 1 : HINDI

Paper — II : General Hindi

Time : 3 Hours

Maximum Marks: 80

1)

2)

3)

= fafea gam = @ yE@ s fifsu) (18)

a) i) I8 & fou fi 9, TE ova il wH W9 ¥ 51 % fie, @ ot g =

YT

i) gRewn g@ A1 =1gY, @H IH Pl Th I 918 Fehed 3, qoid! dfed fadeh

by i) W fa wifen) AfeEa 99 o EET’ ET gEE w, IfEdd 32 a9

YT

ii) % HIeh d YN HIgehal AT afg W a1 Afg 9 S

¢) i) O IR g 9% Th AT hl HIg T T A B ST WA -1 918 qATe-H 9Y %
1y g g | 9R 9 98 U AT i 08

YT

i)  IW T E 3, 99 7 R T TS W Wi w9, @Y 9 o J9|

foreht weh ferar 1 o forfa|
a)  hepdAl Sl YTETATY

b)  ¥fiH T IN-T=AT W U
c) Tugs

fortlt weh i =1 ufe i)
a) Togd @
b)  Hfeiere T8

c) @M

(10)

(10)



4

5)

6)

foreft we faw W faery fafe) (10)
a) RESEINE!

b) A | @I

c) foum @ ey ok =1

d)  faeneff ofw aerfa)

e)  wHg-Tuam|

foreht wep Tfecy fawa w fay faRau) (20
a)  HIA-TIuTeH]|

b)  fwfor —wfwam)

c)  FH- Wik

d) 37 IR YHE=<|

o foflgd T w1 fo=dt # sigang <hifsu| (12)

The Elephant is a largest and strongest animal. It is a strange Loking animal with its thick
Legs. huges sides and back, Large hanging ears, small tail, Littleeyes, Long white tusks
and above all. Its Long nose called the trunk. Elephants are found in India and in Africa.

The elephants is a very intelligent animal.

[TTT]



(DSAN21) (NR)

B.A./B.Com./B.Sc./B.B.M./ B.B.A./B.H.M. DEGREE EXAMINATION, MAY -2015

Second Year

Part —1: SANSKRIT (NR)

Grammar

Time : 3 Hours

Paper - II : Drama, Champu, Prose, History of Literature, Alankaras, Translation and

Maximum Marks: 80

D)

2)

3)

Answer any two questions :

@:W%‘@H
i) efadte defimiier feruis foma

ii)  ANTH Jemme Y fored
iii) SEFACHT AR for@d
iv)  siepsorgera: W aTeuifed fEaea

TSleas Y= Herumes foaad -

YT

AR UTEgehd: TN==THe He-ameh forad

Explain any four of the following with referrence to context-

Il gy ST

i) Tl yf @ wee
ii) HEETEl TR

iii)  dwon afoaygada i
iv) HGEd 39 He: FEeSA

v) 3 d HESE e

[2x10=20]

[10]

[4x3=12]



4

5)

6)

vi) T3 TS Hifeeiiehl Sd
vii) Wag Wag T iedery
viii) T RR@T SAqREdHTT

Write a brief note on any two.

o« T fored
i)y umEem

i) s

iii) e

iv)  WEIRRE:

Define and illustrate any two Alankaras

ﬁzm:ﬂmﬁfﬁ@ﬁ

iii) o= :

iv) TEvafF:

Write the forms of any four of the following sabdas-

aqot Hiefawfey s faed
i)  drh-guH

i)  Tea-fgd

i) ToH-E

iv)  fergE-efte

V)  gHg-HuHl

[2%4=8]

[2%x5=10]

[4x2=8]



vi) dg-g-Sem
vii) feh-Tg-=geft
viii) AT -HEEAIeH

7)  Write the forms of any four of the following adding the given terminations. [4Xx1=4]
EGUIEKERRIE RIS IDICIRTIER]

i)  Y-Fdag
i) w-vg
iii)  g-m

iv) TH-Teq

v) H-wa
vi) R
vil)  YS[-Fcdl

viii) T-Fg—eg
8 Translate any four sentences into Telugu or English [4%2=8]
FAUIT AR a7 ATy foea
i) wqon Hren fersrEg
ii)  ehIfcTgrEy: hid: Ty AIfed
iii)  TTAEECE RAY - AR STREHRIE I Teh T Jeifgaa:
iv) gAML -G8 -9H: o Tifed
V) IER-ANNH: sSighd geMfued:
vi) foemem a9 aife

vii) I SEATHEEER FGHIGg Haicd: JaHH=Ne Seshddrd:
viii) STFYUCIRIY: FAFIICIE Fdarong sfa fgar fa=: 1|
[(1TT1T1]




(DBES 21)

B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M. DEGREE EXAMINATION, MAY -2015

Second Year

Paper — I1I : Environmental Studies

Time : 03 Hours Maximum Marks : 100

D)

2)

3)

4

5)

6)

7)

8)

Section — A (4x10 =40)

Answer any Four of the following

Each Question carries 10 marks

Write about the need for public awareness with regard to Environmental studies.

Sorgsses eocﬁéoi).éoess [BeerI0rgd8 eSHER0N $82280 oY) eSEESD 1H80D (Frabod.

Classify and explain the natural resources available in environment.

5oo555saoes‘9 PIPeSSEORD 5§§ao::> D580350&.

Write about ecosystem.

B8 359 (IE°5:53) 1809 [FPaHos.
R St

Write about soil pollution.

0yB5° SPenE 180 [FPabod.

Write about global problems of environment.

3Teg5Ea08" (5503 T JEBHBOP) ST K80 @RS,

Explain in detail about the causes and effects of population growth on environment.

;’ac"ééésao:.g 2BIPIC BN BO I Eenid @’owa":{)& 08030 a3 NSO s*éss‘é')& DS5B030&.

Explain the role played by National and International Organizations in conservation of
Biodiversity.

B53D¢55 366" Bab, wosTrBab Koge (@ 8o IIBosod.

Discuss the causes and effects of depletion of Ozone layer.

580 D8 g‘saééme) s"éea‘@& 5809 D580 e IS Eenrd [Sgraresd K809 [@Pohod.



Section — B (3%x20 = 60)

Answer any three of the following

9)  Explain the causes and harmful effects of water pollution.
BOSPDZOH Ko SPBETo K80 (7R, &°R) S Seold [Ferareoid dIBosos.

10)  Explain the term ‘Biodiversity’ and wrote about its significance in environment.
B3P0 eI D05 D3BoB0E BN ST HEE0S’ T (e 80D Faod.

11) Write about the impacts of Human activities on Forest resources and water resources.

3095 s*dééerave) 308 @S5 HB0H VOISO S0l (SgrTor K80 [@FPaHod.

12)  Write about solid waste pollution and Management.

338 ISTTre H0 Seord SPensins H8od B°R, 3063 DBFes 980D BewSod.

13)  Explain about the conservation and Management of Natural resources.

DFesIdBo0 $88%es anBaio ABgses Kr8ox) 58030,

14)  Write about various components of Environment.

;56"55689066:0 DD ooz 80 [FeaHod.

Tr £ {2



(DICS 21)
B.A./B.Com./B.Sc. DEGREE EXAMINATION, MAY -2015

Second Year
Paper — 11 : SCIENCE AND CIVILIZATION (iii)

Time : 1% Hours Maximum Marks : 50

Section — A (2x13 = 26)

Answer any two Questions

1) Explain briefly about age of metals.
S°5 aoneR), Lo DS5BoBod.

2) Write a note on discoveries of science related to health.

S50 DA 5D RO 180D FPAHos.
e %

3) Discuss the complementary and adverse impact of science on our society.

Baores0 PRy (HEaE) 09, Do Svore éaooéo&.

4) Discuss briefly about the goals for a prosperous society.

RogriSoSR0 D3R8 oF® O 80 {.38001:30&.

Section — B (3x4=12)

Answer any three Questions

5 a) DDT
8.8.8.

b) AEROPLANE
55%5

c) Television
B3de3d

d) Insecticides
SeasTedoen

e) Cinema
DAL



f)  Atomic power
SBSoee $§

Section — C

Answer all Questions

6) Fill in the blanks.

7)

oD He8owod.

a) Insulin controls disease

20)R DaHo@ow CANARIY

b) Chemical name of vitamin C is

DLW ‘Y’ GoE), BRIAHE TS0

c) Radio was invented by

BEAITH EDRANS I8
d) Filament in an electric bulb is made of metal.
Deos® a)ena)eSGK) RISEMeTANY) %08’ $oirtHdI.

Choose the correct word.
SBELS SBS0F0 HBoBOE.

a) James watt invented

1) Radar

i1) Radio

ii1) Television

iv) Steam Engine
By 765 SRS S65E3»
i) o°@b

i) 8&a

i) B99=8

1v) esdBodHolo

(3x4=12)



b) Gammexane Chemical formula is

i)y CH,
ii) CH,CI
iii) CeHyClg
iv) CCl

nm»gas GBo0E), BRRADS PR

i) CH,
i) CH,CI
iii) CeHyClg
iv) CCl

¢) Chemical formula of chloroform is
i) CO
ii) CO,
ii1) NH;
iv) CHCl

E78°080 %), BIADN Psyer
i) CO

ii) CO;

iii) NH;

iv) CHCl;

8) Match the following

a) Synthetic Fibre 1) Disease of Nerves
b) Satellite i1) Virus
c) HIV 1i1) Communications
d) Beri Beri iv) Nylon
Bo8 763 $58508&.
a) 5@ e ) JoccoT®
b) &syfro ) 8%
d) =888 V) ders

T £ 13



(DBC 21)

B.Com. DEGREE EXAMINATION, MAY - 2015

(Examination at the end of Second Year)

Part - I : COMMERCE

Paper - II : Banking and Financial Systems

Time : 3 Hours

Maximum Marks : 80

D

2)

3)

4)

5

6)

7)

8)

Mixed Banking.
Do ego8of.

Nationalisation.

ePRODHESE.

Online Banking.
&SR ergo8of.

State Co-operative Bank.

o*'g}x):)ssvé eavéoéx

IDBI.
IDBI.

Merchant Banking.
38085 eg08of.

Collecting Banker.

Hypothecation.

HAS.

Section - A

Answer any Four of the following

(4x 4=16)



Section - B (2 x 8=16)

Answer any Two of the following

9)  Unit Banking Vs. Branch Banking.
0H0°eS eg080f Vs. (&0 exgo8of.

10) Explain the functions of Exchange Banks.
DASOOD a)‘50§oe) OO DIBoFHhadoo.

11) What are the constituents of Indian Money Market?
ePER0H 16555 3578 5" grrre D580HI0?

12) Explain the consequences of wrongful dishonour.

DB D) O eI°g08LD OTEBR TR $OBCOD DHBoHN0.

Section - C (3 x 16 = 48)

Answer any Three of the following

13) Critically examine the working of Co-operative Banks.

SFse8 oo SABB oG Bone 583903508,

14) Define Crossing. Explain different types of Crossing.
[BeRoR QBDo B°R0RS® DD E5cxD SBoHS.

15) Explain the precautions to be taken while advancing loans against goods.

FBHH T D wvescen B DY, e088 DS 50NS e SBoHI.

16) Explain the general and special relationship between the Banker and Customer.

a?zsoééo DBA0 grEeIE :éocﬁ?sﬁe) Dopedes 08odw L;’oééé K)oaootp":()& 2580HB00.

17) Discuss in detail the statutory protection granted to a Collecting Banker.
SKI°e e°S08K B0 5@0)03 BEEIN0 BOOHIN.

18) Discuss about Offshore Banking.
TR arzsogoﬁ:éo 5809 JS5B0HS.

sk
sk
sk



(DBC 22)

B.Com. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Second Year)
Part - I : COMMERCE

Paper - 1I : Financial Accounting - 11

Time : 03 Hours Maximum Marks : 80

Section - A (4 x 4=16)

Answer any four of the following

1)  Write the features of Installment system.

T SES ), OFETOD @Erood.

2)  To which concern single entry system can be adopted?

[N -,
2,063 563 TR I mogees‘ (5338 D80y ?

3) Profit and loss Adjustment account.

[335A] .‘6@30 K)dgea”é.» T°B°.

4)  Features of Branch accounts.

(e7°0<) §T°B° G3E); VFETD.

5) Calls in arrear.

e 3CaveD.

6)  Short workings.
SBO1HO Joen.

7)  Revenue expenses, capital receipts.

ocd Sgosren, ?oé.gzo& e35°OIIPeD.

8) Minimum Rent.

SH P oB.



Section — B (2 x 8=16)

Answer any two of the following

The Receipts and Payments Account of Anantapur District Sports Club, for the year ending 31°*

December, 2009 was as follows:

Receipts Rs. Payments Rs.
To Balance 1,500 By Salaries 12,000
To Subscriptions 21,000 By Office expenses 3,500
To Tournament fund 2,000 By Printing & Stationery 2,500
To Donations for constructions 15,000 By Insurance 500
of buildings By Advertisement 2,000
To Legacies 5,000 By Investments 11,000
To Sale of magazines 500 By Tournament expenses 1,500
To Sale of furniture 300 By Wages 8,000
(Cost Rs. 200) By Other expenses 1,000
To Other receipts 1,700 By Balance c/d 5,000
47,000 47,000

Additional information:

a)  Subscriptions received in advance for 2010, Rs. 500.

b)  Subscriptions outstanding for 2008 - Rs. 1,000 and for 2009 - Rs. 1,500.
c) Capitalise half of the legacies.

d)  Outstanding expenses : Salaries, Rs. 2,500.

e) Prepaid insurance, Rs. 200.

f)  Office expenses include Rs. 300 for the last year and Rs. 200 for this current year.

Prepare Income and Expenditure account and Balance Sheet as on31* December 2009.

©308HB0 Ber %5y 55 T8 SRy, oY grae 31 ERoatd 2009 7638 1808 DI HHB :

S8ty & doPen &,

To 32y% deg 1,500 By daven 12,000
To Hoa~en 21,000 By eshitd> itoyen 3,500
To eS‘éopooeS 28 2,000 By sw|ges, D558 2,500
To dovwren - 53 Doy 15,000 By 830 500
To 8Kded 5,000 By (S50 2,000

To So°gr@Ro eaysten 500 By 2énadoen 11,000
- e



10)

11)

To 58,358 exsys~en 300 By 9,566&5305 B0 1,500
(68 8o~. 200) By 3gmren 8,000
To ad8 :6:()5"41)0 1,700 By a8 apéooe» 1,000
By 88y% Deg 5,000
47,000 47,000
PSP FJoeTeE0:!
a) So00&oT 3DyI Sosren : 2010 $058y5°d8, &oe. 500.

b) TN Someen : 2008 8 &e. 1,000 ; 2009 & go~. 1,500.

c)

SreS® B1 0@, Brerdssen dabod.

d) BOos5dS daven, 8. 2,500.

e)
f)

300067 390 DAL, 8°. 200.

% S 8. 300. KS S03BBHNIHI, 200 T°E%H 03B BIVHD F0w0FoISE. P VoL
GOS0 DS’ 360D Sgosre grees D8ay 31-12-2009 J°e38 e oD),0 ;’)ééém Soddd
Sabod.

Lepakshi Art printers purchased a printing machine from Mysore Printers on 1% January 2007
on hire purchase system. The cash price of the machine was Rs. 11,175. The payments were
made as follows. Rs. 3,000 on signing the agreement and the balance in three annual instalments
of Rs. 3,000 each. 5 percent was changed by Mysore Printers per annum. Change depreciation
at 10 percent per annum on diminishing balance of the cash price. Prepare machine account,

Mysore Printers account and interest suspense account in the books of Lepakshi Art printers.

8§ &8 Dotwby 538 1, 2007 28 [DoSoR abo@) & SR’ 3§ PRFL Hotsdy H0d
R0 D36, abol@sn @, S §8 8. 11,175, 3QoHen (Bo8 Igsnme H8. 8. 3,000
250850 PoBES0 DS B, Widen sz, S o8 Foumeed® (38 TronaeD . 3,000
THpd dYop®H wohsein HABIB. Prrd BHowdy & TS 3§ 5 TEsD TS Skren
SaoTBd. ADOEED B 8P SRoY Vo SE SHFBoD TP strdBe Bk 10 FEsN
TS B8 a5 S8 &8 [Dotrby 378 I3seeS’ abo|Bo PrEed, PRI [PotaBy grEeid> S8 éé
@TCOSE OB S$0ITCEDODoE.

Vaisali Stores of Bangalore had its branch at Tirupati. The following details are extracted from

the records of branch, for the year ending 31.12.2009.

Goods are invoiced to the branch at 20 percent profit on invoice price. All expenses are paid by

the Head Office except petty expenses which are met by the Branch Manager. The branch has to

deposit all cash to the Head Office bank account on daily basis.



Rs.

Stock as on 1.1.2009 (invoice price) 15,000
Debtors as on 1.1.2009 12,000
Cash on hand 1.1.2009 700
Office furniture (1.1.2009) 1,000
Goods sent to branch (invoice price) 80,000
Goods returned by branch 2,000
Goods returned by debtors 1,000
Debtors (31.12.09) 9,000
Cash sales 40,000
Credit Sales 50,000
Discount allowed 1,000

Expenses paid by Head Office.

Rent Rs. 1,000; Salary Rs. 2,000; Stationery Rs. 200; Petty expenses paid by the Manager Rs. 300;
Stock on 31.12.2009 (invoice price) Rs. 14,000.

Prepare Tirupati Branch account to identify its net profit.

BorHOEEHS’ 373° R85>y 768 BBHSVS® 2.5 |20 DB. &0ty 31, 2009 738 |@r0d HIsee Jod
VEBoBGES IS T B0 (808 DFZ0M HHB.

872098 S0DI T BTV HEKH S0P . a8 BNT°ODR 8D 20 TSR0 SPgS0 0L
DHB. ©) PEODH WE GO T DYoWWAH. Ber PEnO WIF, T P (Er0d DI
3oy oRseBI0HB. (38E% (0D T e SWES I InTeH E eHHd T8 GED

rES’ 85 DAHION D3\B.
&,

SEH dog 1.1.2009 (ada7005 5) 15,000
awesliyen 1.1.2009 12,000
38° sKe 1.1.2009 700
e 38,38 (1.1.2009) 1,000
1877008 S0 HEDH (BAT*0LR $B) 80,000
(870 PSR DS K 2,000
20063 TS BRD FBKH 1,000
awesioen (31.12.09) 9,000
SO esiyseen 40,000
(DTSN} eaéaé?en 50,000
3y Bdr)080 1,000

& 00 DYodS Ptdyed
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13)

o8 &. 1,000, Baeen 8. 2,000, E});’);éé 8. 200 SoIestd> 3DowS DB xyen &e. 300; 5% deg
31.12.2009 (adaowd §8) . 14,000.

2 DIB30eD SEEERMT DED LSS (2770 B> BB, &80 LB eyl 88 0B0&.

Himabindu Co. Ltd. Regd. With Rs. 5,00,000, divided into 50,000 equity shares of Rs. 10 each.
The Co. offered 45,000 equity shares at a discount of 10 percent and received applications for

40,000 equity shares only. The amount was payable as follows:

On application : Rs. 2 per
share
On allotment : Rs. 3 per
share
On 1% and finalcall :  Rs. 4 per
share

All money on calls received, excepting 100 shares of Harinath who failed to pay 1% and final call.
The bond of directors forfeited these shares. Subsequently, issued at Rs. 7 per share. You are

required to pass necessary journal entries and record the Balance Sheet with appropriate items.

5080t L0 HBWBE 8. 5,00,000 esGE)d Sorerssnd® (50,000 685595) Freren 8. 10 Jend Kod
50§08, S0 45,000 Seded Trererd 10 Fdn ddm,0twid &8 S8, 40,000 S8 TereDH
BBT°Re0 HNT0W. Toer° IO (308 JFS0TT IYoITL.

BB : Boe. 2 |5 Trere S‘Z)o),é
SerronoH 8. 3 (38 Trer T3y,
K63 398 e : 8. 4 (38 Trer T3y,

o8 eDX)& TeeTP0 P N SHPGH8, 5° B8 é(g Ko 100 areredH 03 98 e%’)o)) 5%)0153(63.
S0 BBLY 25663 & TerOR B VT, SIS 3D BBA &v. T TS),S (198 TrerD) &3°8 D>,

2 ©0TOR eEEEIVT JWED 502D HIFOS” OITERN e Stgen I I8, e B0 SSES°
JESSONS @oFOR HBoBSET, FALPK JoHod.

Section — C (3 x 16 = 48)

Answer any three of the following

Harini Coal Co. Ltd., leased a colliery on 1* January 2007 at a minimum rent of Rs. 10,000. The
royalty was paid at the rate of Rs. 1.50 per ton produced. The short-workings are recouped over a
period of first three years of the lease. The output for the first four years, viz., 2007, 2008, 2009
and 2010 was 4,500 tons, 6,000 tons, 8,000 tons and 10,000 tons respectively. Show Minimum

rent account, Royalty account, Landlord account and short workings account.



14)

15)

T8 &1 502D OWHE 58 1, 2007 Fock KA JerH TE. SIS @ &, 10,000 TeaHdne
28 ) 5B 8r. 1.50 T3S 3DoHH eofisrssin HABIB. $KIH Joazod vt S
$038B850S" TratnE 3R, 2B Treord SoSBHBINOH BB SKST 2007, 2008, 2009 S8k
2010 8 4,500 &S0ye0, 6,000 &x5yen, 8,000 e50e0 HBad 10,000 Lienm HHB. P ISBI0OR
SEEES0T B0E°D), EISY 9, T°aHY, Frrdred HHBADL BB I PPB K SaE Jood.

On Jan. 1, 2007, Ananta Transport Company purchased Motor van from Viswam Motor Builders
on hire purchase system. The cash price as Rs. 37,250 and payments were made as follows Rs.
10,000 on signing the agreement and the balance in three annual instalments of Rs. 10,000 each. 5
percent per annum interest was changed by the vendor. Change depreciation at the rate of 10
percent per annum on diminishing balance method on Motor van. Prepare Motor van account,
Viswam Motor Builders account and Interest account in the books of Ananta Transport Company.

58 &7 5020 dWEBE 83538 1, 2007 @508 SI°eT® 000 L 50D No%es SoiS 008 Jrerdd
oo 0 Si'en 58 Sen SV, SKE> 8 &7, 37,250 39open (BoB 0T HB.

&, 10,000 esyodo Sossdn DS 8% orbensd Soekd 88 Fowares B8 o Bov.
10,000 S°5yS DO0T°\K. @950,59) e8I 5 FPBSD H0S5S$\o°E N5 égbxm)m 8. TR0 88

o) e i) () ) é 2" Q e ¢
$B5rHSe 10 Fesdhn S"Xao)):é ér{géoé& aesoéo [l yloloaMd 6§bomvﬁ)m&d). D ©OBPORD GCPBOMNT APeT°ED
IO YPF°D, béso RVl le) X)U"ée'a E02d) PE°RD o8 5§ PO @0 BIeT® K)og @_Kgsveé‘
Sadd Sabod.

Chandrabose Trading Co. of Tirupati had its branch at Chennai. The following details are
extracted from its records relating to its branch as on 31% December 2009. The Head Office is
sending goods marked at 20 percent above cost to its branch at Chennai.

Rs.

Stock at Chennai (1-4-08) 1,800
Debtors at Chennai (1-4-08) 3,000
Petty cash at Chennai (1-4-08) 30
Goods sent to branch 30,000
Remittances from the branch

Cash sales 6,000

Cash received from debtors 21,000 27,000
Cheques sent to branch:

Salary 900

Rent and Taxes 150

Petty Cash 110 1,160

Stock at branch (31-3-09) — 3,000
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Debtors at branch (31-3-09) 4,800
Petty cash at branch (31-3-09) 20

Prepare Chennai Branch account to identify its net profit and pass necessary entries to adjust the
value of stock.

8B5S D So158%%0 183&0R Sod 68 ::554_65 28 (270D HIB. 31 ot 2009 638 D8 Hysoe
3008 HEBoBBES SIATTEIN (Bod DFIOM H\8.

goe.

3S° FDH dog (1-4-08) 1,800
354536 20earye deg (1-4-08) 3,000
IS’ 208 31k (1-4-08) 30
877098 S0JS FBH 30,000
(89P0 oo :6.‘().?61)0:

S eoé)és"e» 6,000

2L 20d SHHy, 21,000 27,000
E7°0D8 S0odS Dy en:

Sacen 900

@8 Baid S8 150

D08 B0 110 1,160
0D 3 S8 Jeg (31-3-09) — 3,000
(27098 axeayiye o (31-3-09) - 4,800
D08 Srie (31-3-09) 20

2 IITORD epesSmT ISR EENEACIE Rl SAPBEDY, 68093 VLY ergrd) B88) X7 I8N

DePHERED FEHH eI FKeews o [Faod.

Sreeram and Jayaram are equal partners in a firm. The Balance Sheet of the firm as on 31%

December 2009 was as follows:

Liabilities Rs. Assets Rs.

Creditors 1,000 Cash in hand 600
Bills payable 1,000 Debtors 1,500
Reserve fund 400 Stock 1,400
Sreeram Capital A/c. 1,500 Furniture 400

Jayaram Capital A/c. 1,000 Machinery 1,000



1900 4,900

They have decided to admit Hareram as a new partner on 1* January 2010, with one third share in
future profits, subject to the following conditions:

a) Create Rs. 200 as bad debt and 5 percent on Reserve for bad and doubtful debts.
b) Charge depreciation:
Furniture @ 5 percent p.a; Machinery @ 10 percent p.a.
c) Investments Rs. 400 not mentioned in the above Balance Sheet.
d) Hareram has to bring Rs. 1,000 for capital and create good will for Rs. 1,000.
Prepare Revaluation account, Partners capital accounts and Balance Sheet after admission of

Hareram as on 1* January 2010.

80°00 $o80%0 BAHT SATN gKRe0N DT0. 31 &R0t 2009 738 DB &5} &Sy, 58 (8o

2007 @é&&

er.‘b,o) oo, esigen oo,
2T 1,000 38° 315 600
3o Fvoden 1,000 2esioen 1,500
Bestg DG 400 S doxg 1,400
SooD Srens grae 1,500 38,58 400
B30DT°D TP °S° 1,000 oHo|soew 1,000

4,900 4,900

23558 1, 2010 & o6 $°80°00:0 J°8 gTPHAM 1/3 Soid Foer adoe (808 SgHeH S'ad
360,8°5@>D8 Do

a) ©° e &7, 200 &, So¥ardE arfe DG 5 FeSw Dovyn Sard.
b) g8 BrvSe : 3838 P 5 FB0, aboEreP 10 TS50 88 0308
c) Depaden . 400 P e oSy SEES° S350 S

d) 8o &r. 1,000 o oress srsostsy 8308, &, 1,000 HEISD DyRoB0d. P ST
BSOSO JE°D  H Soreresd PR, P ICeES PrEteosd 8o FBoee
g)"rﬁﬁvséoéoés 53300 $T° 23558 1, 2010 F°e38 es) Oy, ;Sgéém Sadrdd dobod.

17) The following trail balance was extracted from the books of Hima Varsha Co. Ltd. For the year
ending 31% March 2010. The registered capital of the company consist of 10,000 equity shares of
Rs. 10 per share and 5%, 300 preference shares of Rs. 100 each.



Rs. Rs.

Purchases 1,10,670 Equity share capital 1,00,000

Opening stock 29,145 Preference share capital 20,000
(200 shares)

Preference dividend 500 Sales 1,60,800

Wages, Salaries 16,328 Provision for bad debts 600

Expenses on motor car 5,895 Income on investments 1,000

Motor van (Cost Rs. 18,000) 9,240 Creditors 25,650

Debtors 28,370 Profit and Loss a/c 6,954
(1.4.09)

Rates, Insurance 1,217

Freehold premises 88,000

Director remuneration 3,000

Bad debts 770

Investments 5,800

Sundry Expenses 7,890

Cash at bank 8,179

Additional Information:

a)  The closing stock as on 31.3.2010 was Rs. 32,630.
b) Increase bad debts provision to Rs. 750.

c) Dividend on equity share capital at 10 percent.

d)  Charge depreciation on motor van at 20% on its cost.
e)  Prepaid insurance Rs. 78.

f)  Outstanding expenses Rs. 200.

g)  Transfer Rs. 3,000 to general reserve.

h)  Wages includes building construction expenses Rs. 1,000.

You are required to prepare final accounts of the company’s, as on 31* March 2010, as per

the proforma referred in Company’s Act 1956.

31 38y 2010 €38 s> 38 EoR . T8 5P o0& WEBoIVES wose (808 DS DHB. god
$37°%0 @0 Sasresssns® 10,000 5883 Seren 8. 10 Dend Ko > $8ak0 5%, 300 eB5cH

aeereen &o°. 100 Dendred @a&a.



&oe. 8oe.

SR, 1,10,670 8883 e oregssn  1,00,000
P80 5K 29,145 eQ5 Trer Boregsso 20,000
(200 Seeaeen)

35559 &G0k 500 @RS en 1,60,800
Sdaren, Bacen 16,328 o) e Dovytn 600
APeTPE 5B gpéoaen 5,895 béqga)éw}_) e30°0HHD 1,000
Arerdd 576 (87§68 18,000) 9,240 2A0ED TOBED 25,650
2ea(fien 28,370 org Sapo grae (1.4.09) 6,954
B, SRxe0 1,217

fo‘sa:)di»é e8:58e3°e0 88,000

@888 88°A%0 3,000

oD ee8en 770

b&ga)céoe» 5,800

ISt Artetor) a)é.bw 7,890

a7°§o§3956 SK 8,179

3,15,004 3,15,004

B DITPTEI0

a) 31.3.2010 77638 SRo) $HH Jews dov. 32,630.

b) oo erle DT PR &, 750 S8 DoTd.

c) 883 Trerep EDBotw 10 TE30 88 0a°d.

d) Boreath TIRR0D 20% SIHSe 5 5 88,0508
e) Hooone 3o P 8. 78.

f) DOoBIRS Prdyen 8. 200.

g) FErdes Bathe® a8 8. 3000,

h) 533 Does0 Bxyen 8. 1000 Jsores® 0D DHB.

2 BHoD egrosomr SwE 31 @8y 2010 S8 S0 3eEn 1956 FSER0 @S58 SR

PPSOR ST,
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On Jan., 2007, Ananta Transport Company purchased Motor van from Viswam Motor Builders
on hire purchase system. The cash price was Rs. 37,250 and payments were made as follows. Rs.
10,000 on signing the agreement and the balance in three annual instalments of Rs. 10,000 each. 5
percent per annum interest was changed by the vendor. Change depreciation at the rate of 10
percent per annum on diminishing balance method on Motor van. Prepare Motor van account,

Viswam Motor Builders account and Interest account in the books of Ananta Transport Company.

2356 1, 2007 5 @308 ST 50D T Arerdd oy $0g Wod Irertd TgHH ©f FHiew

S8 SR BTG, 1> &8 &7, 37,250 3Yopen (808 D HHB.

goe. 10,000 &:)Qoéo}_) JoBEI0 IS GPerd rHensdd Hoedd mgg FoaoS 38 oD Gov.
10,000 S°51,% DOKR0TED. @55 BPBIE 5 TS0 H038$\0°08 383 égbmm 6. FPPIS0D 008

o e i) (O ) G 2™ Q & Ya
S50 80 10 et 6‘39).5 ér{g&m& X)esem espeBomT aébommm&m. D OBV espeEonT eerdd
IO PPTOD, Z):éoso BVl leb) K)U"éea 50D PrEeR Bt 5§ IO 90 BIoeT® K)og @._‘()nswese
S8 Sabod.
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B.Com. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Second Year)
Part - Il : COMMERCE
Paper - II : Quantitative Techniques - 11

Time : 3 Hours Maximum Marks : 80

Section - A
Answer any four of the following

& (808 386" DIV Trevid [$HDH FITEESSen EraHBD

1)  Importance of Index numbers.

’ao&% R’)ogpée) @"’m.)&)zsé.

2)  Decomposition of time series.

B%0D25S &5hH 8 HBH (Soah (@3 DArKID).

3)  Graphic method.
D8 eSS0,

4)  Discrete variable.

&2),85 38aband (I 35T°D).

5)  Normal distribution.
T8 &R0 (Frgrves S0d3).

6) Time reversal test.

ISRY a;szs‘aé 839.
o e

7)  Conditional probability.
085356 [F0DOES (A Sogrigs).

8)  Differentiation.
&3BA)aE® (DePesEBed).



Section - B
Answer any two of the following

e (808 T736° DI Bok> (530 SIEERNS0e [FEdED

9)  From the following data calculate Index numbers through Paasche’s method.

2009 2010
Commodity Price Quantity Price Quantity
A 20 80 15 79
B 18 60 17 120
C 24 70 20 50
D 32 30 18 30
E 47 10 19 45
F 30 20 16 38

s 8085 AI@ES Grer 0&, )R IGI0 B°gT° 20&E) oI B8 0HHw.

2009 2010
PEH fale] HBIoeea0 fale] 383070
@ 20 80 15 79
& 18 60 17 120
Q 24 70 20 50
& 32 30 18 30
Q 47 10 19 45
AR 30 20 16 38

10) Let x be a binomial of B(2, P) and let y be B(4, P) if P(x> 1)= g then find P(y® 1) .

X o038 B(2, P) 3w, 8o (binomial) won &od, y @38 B(4, P) m &od, P(x* 1)
wonia0d, 3yt P(y? 1) o SHfSomw.

11) Solve the following LPP using Simplex method?
Max z = 20x; + 80x;
Subject to
4x +6x_£ 90
1 2
8x + 6x_£ 100
1 2

X &x 30
1 2

ol o



Xx)"’g& DFR3300% &SRB &8 (808 LPP D 38, 8o0:500.

Max z = 20x; + 80x»

Subject to
4x1 + 6X2 £90

8x + 6x_£100
1 2
X &Xx 30
1 2
12) Find gi if y= (3x°+ 4x+8)’.
SR80 gi ify= (3x*+ 4x+8)".

Section - C

Answer any three of the following

&2 (808 3°36° d S0 (S%PF BITGRSI0eD EPaHOB.

13) a) Evaluate o (3x+ 9)" dx.

b) Evaluate ¢ (2x+ 9)° dx.
D) dFdowan o (3x+9)" dx.

£) oW o (2x+9)° dx.

14) Fit a straight line trend.

Year 2001 2002 2003 2004 2005
Sales 5 10 15 20 25

2.8 359 89 §°83D bc°°)éo.) BosB0.

0388500 2001 2002 2003 2004 2005

Dasen | 5 10 15 20 25

15) Find the maximum & minimum values o3+ 2+ T

K83 3801 ED Devdos SERRRIN P I Sy §

10
16) 1Ifyis B n,§§ find n for which P(y® 1)® 0.8 .
(%]

& 10
Y @038 Bgn, ézeoow:éa’)o))cﬁo, P(y? 1)° 0.8 eond e5)&008, @& 1 5 E30R°8os0.
g (M)
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18)

Solve the following by using graphical method.
Max z = 10x; + 3x;

Subject to
2x1+ 3x2 £18

6x +5x 3 60
1 2
X &x 30
1 2
%S (BreABsn) 558 &SR s Bo8 T°e3D GoSosw.

Max z=10x; + 3x;

Subject to
2x1+ 3x2 £18

6Xx +5x_* 60
1 2

X &x 30
12

Calculate Fisher’s ideal index number.

Commodity Base year Current year
Price Quantity Price Quantity
A 6 50 21 96
B 2 120 4 146
C 4 70 8 80
D 10 80 16 48
E 4 90 7 140
S0y $5°ER) GY), e 'aoa% D08 EHR° o3,
B BEY 5058830 (SR8 H505&330
8 SB3rea0 fale] SBSeeasi0
A 6 50 21 96
&) 2 120 4 146
2 4 70 8 80
& 10 80 16 48
2 4 90 7 140
€ K ¥
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(DBC 24)

B.Com. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Second Year)
Part - I : COMMERCE
Paper - 1I : Fundamentals of Computers

Time : 3 Hours Maximum Marks : 80

Section - A (4x4=16)

Answer any FOUR questions

& (808 386" DIV Trevid [$HDH FITEESSen EraHBD

1)  Write about Monitor, Printer, CD-ROM, Harddisk.

3788, Hotsl, CD-ROM, 8 &%y, 10809 @raboso.

2) Write the differences between Primary Memory and Second Memory.

@me D308 Bk VY& WITB Jg Ko S@ IS0 1B [FeaDS.

3)  Write any 2 Internal commands with syntax and example.

R0erE) S8 STPIPEEE’ ot IBD 2 ROLB)S 308y [FPas0I.

4)  Describe the impact of computers on business.

5)  Write about the Word Processing.
58 @20 180D [@easvw.

6) High level, Low level languages.
> 895, & 836 evgoian.

7)  Quick Menu.
8.8 Do

8)  Variables.
38aa0dy (S80Hen).



9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

Section - B (2x8=16)

Answer any TWO questions
e (808 T736° DI Bok> (530 SIEERNS0e [FEdED

Explain any 4 Input and 4 Output Devices.
I 4 aNPES Bato 4 TedHed GPPR 180D DSBoHI®.

Explain about File Management in DOS.
DOS &° & o3ER00¢5 1809 [Frasos.

Explain the Generations of computers.

éo;’yéé.)s &Sore 1809 JI8oHw.

Describe the history of computers.

SoPrgas SBBRL D3BoYI.

Section - C (3x16=48)

Answer any THREFE questions
& (808 37836° I S0 (56,0 SEPEESS0e EraHISD

Explain the characteristics of a computer.

Sogrgab gy ogEeD DSBOYHI.

Explain the DOS directory structure with example.

DOS gags DT ASEIPBEI0N DSBOYHI.

Explain the purpose of Word processing and advantages of Word processing.

38 PrRBoR a8 g1 2Ba 35 P-RBOR HFAreENE HB0D DSBoHID.

Define Flowchart. Draw a Flowchart, to check whether the given number is even number and odd
number.

25755 DBI0D0. PsTER ABEB0I, ASWES Dowrh 3o S8 B9 SogyOir SSR" .

Write about branching and looping statements in basic language.

Basic e°50fic@6" (21°020R 508050 erdoR §e53>085) %5809 [FPas0B.

Explain the steps to develop a program using High Level Language.
> 836 @éoﬁsém ESAPRIT AB 28 (DSOS eoé',)éo)g Sasn B8 DSBoHI.

g 97 <97





